

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE EXECUTIVE ENGINEER (SPD-II) LYARI TOWN, DISTRICT SOUTH

NO: E.E/(SPD-II)/L-T/D-SOUTH/KW&SB/2018/700 DATED: 21-06-/2018.

The Director (C.B), Sindh Public Procurement Regulatory Authority(SPPRA), Block-8, Sindh Secretariat # 4-A. Karachi.

SUBJECT:- SUBMISSION OF DOCUMENTS ON COMPLIANCE OF RULE-45 FOR THE WORK OF "REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT. AND MECHANICAL WORK INSTALLED AT UC-36 P/S NO.2 EJECTOR-19 P/S PUMP NO.2 & 3 SPD-II, LYARI TOWN.

REFERENCE: SERIAL NO. 37641.

Enclosed please find herewith, necessary documents for compliance of Rule-45, for early hoisting on Authority Website of SPPRA and issuance of I.D.

Enclosed:-

- 01. Bid Evaluation Report.
- 02. Comparative Statement.
- Bidders Eligibility / Qualification Report. 03.
- Minutes of Bid Opening Meeting. 04.
- Attendance Sheet of Contractors. 05.

EXECUTIVE ENGINEER (SDD-II) LYARI TOWN, DIST. (SOUTH)

KW&SB

Copy for information to :-

01. The D. M. D (T/S), KW&SB.

02. The Superintending Engineer, (South-A), KW&SB.

03. Office Copy.





KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE CHIEF ENGINEER (IPD)

BID EVALUATION REPORT

	1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
	2	Tender Reference No:	SPPRA Serial No.37641 I.D No
ů,	3	Tender Description/Name of Work/Item:	REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT. AND MECHANICAL WORK INSTALLED AT UC-36 P/S PUMP NO.2 EJECTOR-19 P/S PUMP NO.2 & 3 SPD-II LYARI TWON
	4	Method of Procurement:	Single Stage (One Envelop)
	5	Tender Published:	Through SPPRA Web Site
	6	Total Bid Documents Sold:	2 Nos
W.F.	7	Total Bid Received:	2 Nos
	8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
	9	No. of Bid Technically Qualified (if applicable)	N/A
	10	Bid (s) Rejected:	NIL
1	11	Financial Bid Opening Date:	29-05-2018

12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.Al-Habib Construction & Co.	Rs.9,88,696/-	1 st Lowest	@5.808% Above	Pay order and required documents are attached. P.O # 19532665 dated:28-05- 2018 Rs.20,000/-from HBL Hassan Square Branch Karachi	Substantially Responsive
2	M/s.Rahim Dad &Sons	Rs.9,99,670/-	2 nd Lowest	@6.982% Above	Pay order and required documents are attached. P.O # 19532664 dated:28-05- 2018 Rs.20,000/-from HBL Hassan Square Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.Al-Habib Construction & Co. declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Nadeem Ahmed Khan) D.A.O (Dist. South-A) Member / Secretary

(Muhammad Aslam Awan) S.E (District South-A) Member (Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh)
Superintending Engineer (KMC)
Member

(Saleem Ahmed)
Chief Engineer (IPD)
Convener

COMPARATIVE STATEMENT

AND MECHANICAL WORK INSTALLED AT UC-36 P/S PUMP NO.2 EJECTOR-19 P/S PUMP NO.2 & 3 SPD-II LYARI TWON Name of Work: REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT.

Item No	Description of Work)		Estimated Co			S	M/s.A	s.Al- ructi	
20	,	Quantity	y	Rate	Per	An	Amount	nount Rate		Rate
-	Rewinding of electrical motor 3 phase 400/440 Volts 50 cycle wity quality insolated copper wire of required gauge									
	including testing on load with satisfactory result upto one weeks time opening and refitting and replcing the bolts if									
	necessary excluding the cost of worn out material. (40 HP)	3.00	Job	40280.00 P/Job	P/Job		120,840.00	120,840.00 40275.00	_	40275.00
2	Labour Charges and Transportation from site to workshop and	3.00	Jobs	10.164	P/Job		30,492.00	30,492.00 11,180		11,180
ω	Roller Bearing No.845376 S.K.F 6308	3.00	Nos	1,938	Each		5,814.00	5,814.00 2,132	- 1	2,132
4	Ball Bearing No.833698 SkF 3312-J	3.00	Nos	18,300	Each		54,900.00	54,900.00 20,130		20,130
2	P/F Oring Kit	3.00	Nos	3,000	Each		9,000.00	9,000.00 3,300		3,300
6	P/f Thermal production switch	3.00	Nos	8,000	Each		24,000.00	24,000.00 8,800		8,800
7	Providing Washer Part No.3921500	3.00	Nos	40,000	Each		120,000.00	120,000.00 44,000		44,000
8	Providing Lower mechanicla seal part No.6831400	3.00	Nos	40,000	Each		120,000.00	120,000.00 44,000		44,000
9	Providing Washer part No.3921500	3.00	Nos	576	Each		1,728.00	1,728.00 634		634
0	P/F Magnetic Contactor model No.FC50 NC as required									
	and as per instruction of E/I required at panel board.	3.00	Nos	9,301	Each		27,903.00	27,903.00 10,231		10,231
=	P/F Magnetic Contactor model No.FC65 NC as required									
	and as per instruction of E/I required at panel board.	6.00	Job	13,075	P/Job	0	78,450.00	78,450.00 13,070	1976	13,070
12	P/F circuit breaker 100 Amp. TP XS-100NS on prepared									
	board as required for.	3.00	Nos	9,261	Each		27,783.00	27,783.00 9,260		9,260
13	P/F Circuit Breaker 200 Amp TP (XS-100NS) on prepared									
	board as required for.	3.00	Nos	25,541	Each		76,623.00	76,623.00 25,540	25,540	



AND MECHANICAL WORK INSTALLED AT UC-36 P/S PUMP NO.2 EJECTOR-19 P/S PUMP NO.2 & 3 SPD-II LYARI TWON Name of Work: REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT.

Item	No	14 415V AC, 3-Pha	phase failure ph	sequence, conta	delay (Zahara).	15 Providing and I	PVC sheeted wi	size 25 mm2	0100	16 P/F Rubber Hos	16 P/F Rubber Hos 17 P/F Chain pulle	16 P/F Rubber Hos 17 P/F Chain pulle complete in al	16 P/F Rubber Hose Pipe 17 P/F Chain pulley block complete in all respe No.2&3 (nit chi japan)
	Description of Work	415V AC, 3-Phase 50 HZ under and over voltage relay with	phase failure phase shift phase flickering asymmetric, phase	sequence, contactor control / wire break switch off time		15 Providing and laying (main or sub main) PVC insulated &	1 (00/1000	PVC sheeted with four core copper conductor 600/1000 volls	ith four core copper conductor 600/1000 vots	size 25 mm2. P/F Rubber Hose Pipe 8" made in Japan	se Pipe 8" made in Japan sy block 5 Ton capaicty with 15 meter chain	size 25 mm2. 16 P/F Rubber Hose Pipe 8" made in Japan 17 P/F Chain pulley block 5 Ton capaicty with 15 meter chain complete in all respect as required at Ejector-19 pump	PVC sheeted with four core copper conductor out 1000 voits size 25 mm2. P/F Rubber Hose Pipe 8" made in Japan P/F Chain pulley block 5 Ton capaicty with 15 meter chain complete in all respect as required at Ejector-19 pump No.2&3 (nit chi japan)
	Quantity				3.00								
Ę	ঞ				Nos			.	Mtr.	Mtr.	Mtr.		
Estimated Cost	Rate				15,000			2 426	2,435 P/Mtr	2,435 P/Mt 1350.00 P/Rft	2,435 1350.00	2,435 1350.00	2,435 P/Mt 1350.00 P/Rft 55000.00 Each
Cost	Per		'n,		Each			D/Mtr	P/Mtr	P/Mtr P/Rft	P/Mtr P/Rft	P/Mtr P/Rft	P/Mtr P/Rft Each
	Amount				45,000.00			41 395 00	41,395.00	41,395.00 40,500.00	41,395.00 40,500.00	41,395.00 40,500.00	41,395.00 2,430 41,310.00 2,450 41,650.00 40,500.00 1485.00 44,550.00 1500.00 45,000.00 110,000.00 60500.00 121,000.00 60600.00 121,200.00 000.670
M/s.A Construc	Rate	16 25			14,990		2 420	1,05,00	1405.00				60500.00
M/s.Al-Habib Construction & Co.	Amount				44,9/0.00 15,010	71 1	11 310 00	- 1			121 000 00		121,000.00
M/s. Dad	Rate			15 010	13,010		2 450	1500 00	100000		000000	00000.00	
M/s.Rahim Dad & Sons	Amount			45 020 00	45,050.00		41.650.00		3,0		121 200 00	141,400.00	000 670

(Nadeem Ahmed Khan) D.A.O (Distt. South-A) Member / Secretary

> (Saif-ul-Haque) Addl. Director Internal Audit KMC - Member

(Maqsood Ahmed Shaikh)
Superintending Engineer (K.M.C)
Member

(Muhammad Aslam Awan) S.E (District South)-A

Member

(Saleem Ahmed)
Chief Engineer (IPD)
Convener

SPPRA Serial No.37641 NIT Sr. No.

Method of Procurement:

Single Stage Single Envelope.

Name of Work:

REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT. AND MECHANICAL WORK INSTALLED AT UC-36 P/S PUMP NO.2 EJECTOR-19 P/S

PUMP NO.2 & 3 SPD-II LYARI TWON

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 29-05-2018 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission. 2.
 - i. M/s. Al-Habib Construction & Co
 - ii. M/s. Rahim Dad & Sons
- The bids were opened at 11:30 A.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
	M/s.Al-Habib Construction & Co.	Rs.9,88,696/-	Rs.20,000/-	P.O # 19532665 dated:28-05-2018 from HBL Hassan Square Branch Karachi
2.	M/s.Rahim Dad &Sons	Rs.9,99,670/-	Rs.20,000/-	P.O # 19532664 dated:28-05-2018 from HBL Hassan Square Branch Karachi

- The bids do not contain any cutting or over-writing. 4.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Nadeem Ahmed Khan) D.A.O (Dist. South-A) Member / Secretary

(Muhammad Aslam Awan) S.E (District South-A) Member

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC) Member

> (Saleem Ahmed) Chief Engineer (IPD) Convener

NIT No.SPPRA Serial No.37641

Method and procedure of procurement: Open Competitive Bidding (National/International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF

HMA SUBMERSIBLE PUMP ELECT. AND MECHANICAL WORK INSTALLED AT UC-36 P/S PUMP NO.2 EJECTOR-19 P/S PUMP NO.2

& 3 SPD-II LYARI TWON

Date of Opening:

29-05-2018

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders' Name			
No.	Eligibility / Qualification Criteria	M/s.Al-Habib Construction Co.	M/s.Rahim Dad & Sons		
1.	Registration with PEC (if applicable)	N/A	N/A		
2.	NTN	Yes	Yes		
3.	Sales Tax Registration	N/A	N/A		
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes		
	Qualification Criteria:				
5.	Minimum three years' experience of relevant field.	Yes	Yes		
6.	Turnover of at least last three years	Yes	Yes		
7.	Required Bid Security is attached.	Yes	Yes		
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes		
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A		
10.	Qualified/ disqualified	Qualified	Qualified		

(Nadeem Ahmed Khan) D.A.O (Dist. South-A) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Muhammad Aslam Awan) S.E (District South-A)

Member

(Saleem/Ahmed) Chief Engineer (IPD)

Convener



KARACHI WATER & SEWERAGE BOARD ATTENDANCE SHEET OF CONTRACTORS

NAME OF WORK :- REWINDING OF 40 HP ELECTRICAL MOTOR AND REPAIRING OF HMA SUBMERSIBLE PUMP ELECT. AND MECHANICAL

WORK INSTALLED AT UC-36 P/S PUMP NO.2, EJECTOR-19

P/S PUMP NO.2 & 3 SPD-II, LYARI TOWN.

Date of Opening & Time :- 29-05-2018, At 11.30 am.

Estimated Cost: Rs.9,34,428/=

SPPRA SERIAL NO 37641. Serial No. : 3.

SR.NO.	NAME OF FIRM	NAME OF REPRESENTATIVES & DESIGNATION	SIGNATURE
1.	M/8. AL. Habib Const Co		A Horily
2.	M/8. AL. Habib Const Co. 1. Rahim Dad & Sons.	· ·	A Karlonia
		·	
		*	
		•	
	48		
		* 1	
	•		